
___________________________________________________ There   appear   to   be   no   other   ways   to  
explain   why   people   don’t   show   up   to   social   media   parties _________________________   

Examples/Details/Explanations:   

a   ______________________________________ The   author   eventually   realizes   that   his   other  
explanations   were   ‘wearing   thin’.    _____________________________________   

b   ___________________ He   calls   these   other   explanations   ‘rationalizations’,   which   implies   that   they  
are   not   correct. ________________________________________________________   

c   ___________________________________________________________________________   

Conclusion   ____________________________________ The   author   realizes   that   he   should   spend  
less   time   online ._______________________________   

_____________________________________________________________________________   

 
  
  

5   
  

Preview from Notesale.co.uk

Page 5 of 5


